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2AMd: 2322
M FDANE 2aA4E
Sl MPHE U NeTND 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 = A=l 2,500 0 2,500
oM g = 2,500,000& 2,500
HH== o 2o MY = 26,000 0 26,000
201 et 16,000 0 16,000
01 At 22l 16,000 0 16,000
OSNEESZFXIAA g & 228 24, &
MNE 16,000, 000& 16,000
301 LeEBA S 10,000 0 10,000
12 JIEtE4 3 10,000 0 10,000
OfiEgd oz AE &=l 10,000, 000& 10,000
DYSUL. S0R2EA2EM2 29 122,486 121,654 832
307 21201 A 114,486 110,654 3,832
05 RIZt2lEt = 114,486 110,654 3,832
OnNgsUL. SHEH2EM2 29| 114,486
o Ol HH| (3HE-ALM 1, 2 &2) 93,924,000 93,924
o2 3l 20,562,000 20,562
401 Al HI K 201 I 2,000 2,000 0
01 A& HI 2,000 2,000 0
OAlE sXl2elt 2,000,000& 2,000
405 TtobF S 6,000 9,000 A 3,000
02 = A=l 6,000 6,000 0
OEAMd 2¥ 10,000& 600 6,000
E-SHLASIH0ELA2 29 124,195 126,925 22,730
307 21201 A 112,195 108,363 3,832
05 RIZt2IEt = 112,195 108, 363 3,832
OEx=HL=SSHE N2 29I 112,195
o QIAHI(3H-ALA 1, 22lel=2)
93,924,000 93,924
o2dH| 18,271,000& 18,271
401 AIEHI L 2 CHYI 2,000 2,000 0
01 A& HI 2,000 2,000 0
OAld |RXAl2clbl 2,000,000& 2,000
405 XHoHF S HI 10,000 16,562 26,562
02 =M=l 10,000 10,000 0
OEAd 7Y 10,000& = 1,000 10,000
22 23 6,480 16,440 29,960
201 LB-2E| 600 3,640 A 3,040
01 At 2t 2l 600 3,640 A 3,040
OAtE 2teltl 600




2AMd: 2322
M A2 BIAE
CHol: 2SR U NSTAHD 29 SCRED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o ZoIENHIA AIEZE 600,000& 600
405 TtHabF S| 5,880 12,800 26,920
01 AL EFSHSHI 880 7,800 A 6,920
O EESFH SHI 880
oMASI 2L 880,000 »1CH 880
02 = A=l 5,000 5,000 0
O&EAMd 7¥ 10,0003 2503 «20H 2t 5,000
2SI 29 940 0 940
201 2et2d] 940 0 940
01 At 2teltl 940 0 940
OAtS 2t el Hl 940
o2BNBI| FNLL 48
100, 000& »7& 700
oE0ZE+B(ZEX) 7 40,000 6K 240
AGID BHGtE 23t tl=2 ety 25,000 47,126 N22,126
40 23=H 25,000 25,000 0
307 glz2t0l & 25,000 25,000 0
02 IZtE A AHEE 25,000 25,000 0
O40HIE 23=H 25,000,000& 25,000
MEHE |4 685,906 710,200 A 24,294
| 106,160
Al 54,850
- 524,896
MEH s 2435 685,906 710,200 A24,294
| 106,160
Al 54,850
- 524,896
A¥y2s =d3J|8 294 102,459 50,413 52,046
301 LEtEBA S 102,459 50,413 52,046
Vo=t - 2SRES24=3 102,459 50,413 52,046
O=gd3aql=e 24 102,459
c232(72 988) 2,653,400 x1H «12& 31,841
ocg2(7a2 788) 2,453,4003 x1H x 123 29,441
cHIH(7T2 95 8)
31,841,000% #1/12% 12 x50% 1,327
CHEFIHI(7TS 95 )
31,841,000& *1/12%120% 3,185
CHEFIHHI(TS 72 E)
29,441,000& *1/12%120% 2,945
czdEg 100,000& x2H x12& 2,400
oz &l 130,000 x2H «12& 3,120
o2 2| 100,000& »2H 128 2,400
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2N REHBBD
HE: MEHE S4
Sl MBS 245 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
oZ gl 1,500,000 *2H x13] 3,000
cEAEES 3,000,000 2 6,000
oXMIAs AN 600,000 x2H *53] 6,000
cIZH(+¥=, £2, 43, 2=25)
1,600,000 «2H 3,200
o= Hels 100,000& »2H 23] 400
CHIMNE 04 YN
600,000& x2H x53] 6,000
ol ol EA4MH] 300,000 x2H 23| 1,200
sUXSsAE 22l 75,020 53,500 21,520
201 Let24E] 6,800 7,000 A 200
01 ArR2t2ltl 1,000 0 1,000
OSUHSEAIE 29 A222/Hl 1,000,000& 1,000
02 32224l 5,800 7,000 A 1,200
OdJ| ot E RS 400,000& x12& 4,800
OHMSAES XS ZH Y
1,000,000& 1,000
401 Al HIZ 201 Y| 68,220 46,500 21,720
01 A& HI 68,220 46,500 21,720
OSUNMSAIE FHI 45,000,000& 45,000
OSTOMAYE HOESH XA DA
23,220,000& 23,220
HSHAL ZIOHX&H 34,070 24,070 10,000
307 21201 A 34,070 24,070 10,000
02 HAHFHANGEEE 34,070 24,070 10,000
ONZH WES HLH3 FIHN
1,570,000& 1,570
OAIZH HolESHal &IHXIE 2,000,000 2,000
OR&ANLH=SUH ZIHXEH 16,500,000& 16,500
OR4A GIEMEHSUE HIIX &
2,000,000 2,000
ORMAl HZUMSHSHE &N
2,000,000& 2,000
Og&Chel ZI13 M= X& 10,000, 000& 10,000
T2 MEHsE XH 105,600 24,300 81,300
201 LEt2E | 200 200 0
01 AP 22l 200 200 0
OHEMSIIE ALXTH 20,0003 =102 200
203 ¥ S =&l 10,000 10,000 0
03 Al =&Y 2= 10,000 10,000 0
OdeH=sgdst 10,000,000& 10,000




2N 2SR
B MEIS sS4
ool MBS 245 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 15,000 2,400 12,600
01 A& HI 15,000 2,400 12,600
Os7&LNs2 L3 A 15,000, 000& 15,000
405 RHoHE S HI 80,400 11,700 68,700
01 AL EFFHSHI 80,400 11,700 68,700
O=s7dddsa g€AJ]7 & 23,000,000 23,000
Os7ddMs2 AlAY dod 2
4,100,000& »14H 57,400
MEHSNAE2Y 37,467 38,627 21,160
Al 12,320
T 25,147
307 21201 A 37,467 38,627 A 1,160
Al 12,320
- 25,147
05 BIZHRIE 3 37,467 38,627 A 1,160
OdaHsns 29 16,667,000 16,667
Al 5,000
T 11,667
O0eolldsna 3,600,000 3,600
Al 1,800
- 1,800
OF=FEAL= Py =imES 2,860,000 2,860
Al 1,430
T 1,430
OZ=H=sUH= 9,760,000 9,760
Al 1,800
- 7,960
OFH2N dEHs A4d2H 4,580,000& 4,580
Al 2,290
T 2,290
s+ M=z N& 72,200 69,000 3,200
Al 27,500
- 44,700
307 glz2tol & 72,200 69,000 3,200
Al 27,500
- 44,700
03 BIAHMHE2IHIEL 72,200 69,000 3,200
Os7H=s XA 55,000,000& 55,000
Al 27,500
- 27,500
ONM=SSARY dUE 7,000,000 7,000
OMETSX A 2L o8l
170,000& 5 128 10,200
ULIMEH XA BRI (2SXA) 86,904 81,864 5,040
J| 43,452




EX: S22
HM: MEHE 4
e MEHs 243 (2 &HH)
- RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
- 43,452
307 2iz2to| A 86,904 81,864 5,040
J| 43,452
- 43,452
05 QIZ2tREF 2 86,904 81,864 5,040
OgetMeEty s K =X+ BHX 86,904,000 86,904
J| 43,452
- 43,452
HEAMENSANESA X (B SX) 57,936 54,576 3,360
J| 28,968
5 28,968
307 QI2t0| ™ 57,936 54,576 3,360
J| 28,968
5 28,968
05 QIZtREZ 57,936 54,576 3,360
OHEANMMESX =X B X 57,936,000 57,936
J| 28,968
- 28,968
2t - HEA MENSANEL HKRHA 16,050 16,050 0
Al 7,800
- 8,250
307 2I2t0| & 16,050 16,050 0
Al 7,800
- 8,250
05 QIZ2tREF 2 16,050 16,050 0
Ot - 28 MEHEANENF HSMA
16,050,000 16,050
Al 7,800
- 8,250
AX2AX0I2H XS 45,000 42,400 2,600
Jl 31,500
Al 6,750
- 6,750
307 2Iz2t0| & 45,000 42,400 2,600
J| 31,500
Al 6,750
- 6,750
05 QIZ2tRE 2 45,000 42,400 2,600
OAZIAI0I2HAY 45,000,000 45,000
J| 31,500
Al 6,750
- 6,750
AT =AFOISHE X 3,200 2,400 800
J| 2,240
Al 480
- 480




AN 23220
M MBHS S
ol dEME 243 (&)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
307 glztol & 3,200 2,400 800
Il 2,240
Al 480
- 480
05 2zt & =2 3,200 2,400 800
OZMAAZ=UX0ISD ALY 3,200, 000& 3,200
Jl 2,240
Al 480
T 480
ST dEHs gd3 N 30,000 30,000 0
307 glztol & 30,000 30,000 0
02 B AAMNPE X 30,000 30,000 0
OS2t Hd&XH=sU2 23,000,000 23,000
OSFH=3 U HdEEMSUHS 7,000,000& 7,000
NHEAZXEEY 29 20,000 20,000 0
307 glztol & 20,000 20,000 0
03 eAHNEE2EHIEE 20,000 20,000 0
OXgAZ=3g 244 X 20,000, 000& 20,000
IS HY (22T ) 140,927 140,474 453
el 2l 67,274 40,439 26,835
E-SHYSI22 52 29,880 0 29,880
101 @124 8] 29,880 0 29,880
02 JIEt M E = 29,880 0 29,880
OANZHHE MM 2= 29,880
oJlzs 1,747,370% x 128 20,969
oA g B x| 145,000 *35/40A1 2t =122 1,523
ocd A S A 140,000& =123 1,680
o el g SH| 50,000& *35/40A1 2+« 128 525
S ]
) 1,747,370 x40/35A1 2t%0.84+0.05+ 122 1,007
ocx2RE 8,798 *10Al 2+ x 12 1,056
o= L0 b 20,000& 132/ x12& 3,120
HELIE 23tdE =2 37,394 40,439 AN 3,045
101 @124 H] 37,394 40,439 A 3,045
03 RIHLZ 22> 37,394 40,439 N 3,045
oJles 2,237,850 x12& 26,855
OE &=yl 2,237 ,850% *80% 1,791
OFd=AH| 130,000& ~12& 1,560
OAZte22=42 11,5353 x150%*20A| 2t x12& 4,153
OdxXsa7t=g 11,5353 #8Al 2+ 16 1,477
Odudols 2,992,460% *36% 1,078
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2AMd: 2322
M MENSAAY (2T
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | ONEZL(B2X) 40,0002 * 12 <12 480
JlEZ3l 73,653 100,035 A 26,382
FAII2ZHl 73,653 69, 966 3,687
201 L2l 10,773 10,206 567
01 At 2t 2l 10,773 10,206 567
ORM2ZE JlE+8Hl 279,000& »19H 5,301
OJI2g=e8 =224l 8,000& 34«19 128 5,472
202 O4dl 59,280 56,160 3,120
01 =2 LHA YI 59,280 56,160 3,120
OJlgge=8d ol 260,000& *19H x12& 59,280
203 YR =&l 3,600 3,600 0
04 FN2ELSZTH 3,600 3,600 0
ORMZH2ZH 300,000& =122 3,600




